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The alloy is composed of 20 pounds silver (Ag) and 80 pounds copper (Cu).

3a. (10 pts) What phase(s) are present, and what is the
composition of each phase at {100°C?
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3b. (10 pts) What phase(s) are present, and what is the
composition of each phase at 780°C?
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i) How many pounds of sollg would be present at ‘ﬁ C, ~ Cu -
780°C? e
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3d. (5 pts) What is the eutectic temperature of Cu-Ag? o
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i. How many pounds of eutectic microstructure @ ¢ feo [ie  wrccoshucture
would be present at 778°C? oy
ii. Sketch the microstructure and label the features  # L(/" L 6{ eu‘é,.mﬁc_ e e 2V oo b
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